=2 (Mercury)

QAL |
Z=2[Mercury; 7439-97-6] &L= 1 stet=2 P Siké‘ A= 1%0|4 &tRst 2822
CtOF &3t HI24=2 (Mercuric sulfide), 2 2E 3} Ml142(Mercuric iodide), 2801 AL =2
Mercuric oleate), Ol0| = &3t A 2(Amino mercury(ll) chloride), &l &t M24=2

—_

™ [24=2
Mercury(Il) fulminate) & 1 = olLIE &8
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- =5=38:-38.87C

- 2=38:356.72TC

- £712:2x10 " mmHg(25C)

ol T2 M sCoLE 2 S4B

2Ol 2(0.28umol/L)0flE 0FF 22t =3
- HE:13.534(25C)

- 8 &:15.5mP(20C)

00 0|
h
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“0EA0 51 B BN U2 220 2 2 2(0122)2 SEAGL 2AA0| 28
- 2L REE2S 2AE
-S| FEES OIEM EAANY} DA HAS, HM L CH2 =5
U BI25HLF 22 AMOILE IPIF2 BHAH A2 Ot BIZEHR] 22 2IIS0A 22U

’

Slaleh ONIE e, 22LI0t2 Ol &S A, 265, Etsl LFEE &(sodium carbide),
FHIE& ¥ P22l E2E A(incompatibility) 0] US.

- A9 ZF=E A DF%‘EIE Mﬁol ASHE I01 MiPHIOI#%% Mol &2 22 371
SHME MA

- EIOH“’I [[H
- %UFEQE CC <=

€, ASHAl, HIECHI2 2 Y LI 2 (tetracarbonyl— nickel) & AtA, 2IS, &H3HO
A

_Lﬁ—

['>Q|'

SEo BeE 4 Y= 22
:3—Bromopropyne, Chlorine dioxide, Ethylene oxide, Lithium, Peroxyformic acid,
Alkynes + Silver perchlorate, Methylsilane + Oxygen, Tetracarbonylnickel + Oxygen,

CH3NS3, CI2, ClO2, Na2C2, Nitromethane, Acetylenic compounds, Metals

-

S A |

x 2H=E4

od 71 80mg/kg(LD5O rat), 275mg/kg(LD50, mouse), 458mg/kg(LD50, rabbit),
780ma/kg(LD50, guinea pig)

°£2:244mg/m3(LD50, rat), 290mg/m3(LD50, mouse)

oII| 2:446mqa/ka(LD50, rat), 2,422mg/kg(LD50, rabbit)

-2 2:13mg/kg(LD50, rat)
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